

**INTRODUCTION TO CONTINUOUS CONTROL SYSTEMS**  
**COLUMBIA UNIVERSITY MECHANICAL AND ELECTRICAL ENGINEERING**  
**DEPARTMENTS: E3601**

*Homayoon Beigi<sup>†</sup>*

1340 Mudd Building  
Columbia University, New York City, NY 10027  
hb87@columbia.edu

## Homework 4

**Problem 1** (Laplace Transform – Differentiation). *Show that the Laplace transform of the  $n_{th}$  derivative of a function  $f(t)$  is given by the following identity:*

$$\begin{aligned}\mathcal{L}\left\{\frac{d^n f(t)}{dt^n}\right\} &= s^n F(s) \\ &- \lim_{t \rightarrow 0} \left[ s^{n-1} f(t) + s^{n-2} \frac{df(t)}{dt} + \dots \right. \\ &\quad \left. + \frac{d^{n-1} f(t)}{dt^{n-1}} \right] \\ &= s^n F(s) - s^{n-1} f(0) - s^{n-2} f^{(1)}(0) - \dots - f^{(n-1)}(0)\end{aligned}\tag{1}$$

## Solution

*Consider the Laplace transform of the first derivative of a function,*

$$L\left\{\frac{df(t)}{dt}\right\} = \int_0^\infty \frac{df(t)}{dt} e^{-st} dt\tag{2}$$

*using integration by parts,  $\int_0^\infty uv' = [uv]_0^\infty - \int_0^\infty u'v$   
Assuming  $u = e^{-st}$ ,  $v' = \frac{df(t)}{dt}$ , and  $u' = -se^{-st}$  then,*

$$L\left\{\frac{df(t)}{dt}\right\} = [e^{-st} f(t)]_0^\infty + s \int_0^\infty f(t) e^{-st} dt = 0 - f(0) + sF(s)\tag{3}$$

---

COPYRIGHT HOMAYOON BEIGI, 2025 THIS DOCUMENT IS COPYRIGHTED BY HOMAYOON BEIGI AND MAY NOT BE SHARED WITH ANYONE OTHER THAN THE STUDENTS REGISTERED IN THE COLUMBIA UNIVERSITY EEME-E3601 COURSE.

<sup>†</sup>Homayoon Beigi is Professor of Professional Practice in the department of mechanical engineering and in the department of electrical engineering at Columbia University

Now let us consider the second derivative, where  $u = e^{-st}$ ,  $v' = \frac{d^2 f(t)}{dt^2}$  and  $u' = -se^{-st}$ ,

$$L\left\{\frac{d^2 f(t)}{dt^2}\right\} = \left[e^{-st} \frac{df(t)}{dt}\right]_0^\infty + s \int_0^\infty \frac{df(t)}{dt} e^{-st} dt = 0 - \left[\frac{df(t)}{dt}\right]_{t=0} + sL\left\{\frac{df(t)}{dt}\right\} \quad (4)$$

Using the results for  $L\left\{\frac{df(t)}{dt}\right\}$  derived above, we get

$$L\left\{\frac{d^2 f(t)}{dt^2}\right\} = -\left[\frac{df(t)}{dt}\right]_{t=0} + s(-f(0) + sF(s)) \quad (5)$$

By induction from the past process, we have,

$$L\left\{\frac{d^n f(t)}{dt^n}\right\} = s^n F(s) - \lim_{t \rightarrow 0} \left[ s^{n-1} f(t) + s^{n-2} \frac{df(t)}{dt} + \dots + \frac{d^{n-1} f(t)}{dt^{n-1}} \right] \quad (6)$$